B AYKEIOY AAT'EBPA

—3-{2x+5y:—3 {76%—15y:9
a) =

2- |3x—4y=7 6% -8y =7 (+)

—23y = 23:7722? 72§

Axoun
2x+5y=—3:>2x+5(—1)=—3:>2x—5=—3:>2x=—3+5:>%:>
Apa (x,y)=(],—1)

B) {3x—4y=5 _ 3x— 49 =5
-2- |4x-2y =10 _8x+M=—20 (+)

—5x=—15:>%=%:>x=3

Axoun
3x—dy=5=>3-3-4y=5=9-4dy=5=> 4y =5- 9377?—_—333’:1

Apa (x,y)=(3.1)

1-{4x+3y=5 4x £3¢ =5
=
3-(2x-y=5  |6x=3y =15 (4)

10x = 20:16(;‘ ig

Axoun
Ay
2X—y=5=2-2-y=5=4-y=5=-y=-A44+5="—" ——:>-

Apa (X, y) = (2, —1)

2-(3x-2y=5 6x -4y =10
=
1. |-5x+4y=—7

Axopun
3x-2y=5=3.3-2y=5=9-2y= 5:>—2y_—9+5:>7‘2y ﬁ:

Apa (X, y):(3, 2)
2y
6-{—x+y=3 3{76%+6y=18

1. [6x-5y=-11 |gx —5y=-11 (+)

y=7



Axoun

4

Ax A

—X+y=3=>-X+7=3=2X=-T7+3=>X=-A=>"—"="—=|Xx=4
Y= A A
Apa (x,y)=(4,7)

3{x—9y=—5 N 3% —27y=-15
-3x+8y=-4 | _3% +8y=-4 (+)

Ay _ AT oo
o5 9

Axoun
X-9y=-5=x-9-1=5=x-9=-5=x=9-5=[x=4
Apa (x,y):(4,1)
1 {6x+5y=2 B +5y =2
—2:[3x-y=-13 | 6K +2y=26 (+)
7y _28
Ty=28=>"—=>="—"=|y=4
S Al
Axoun
-3
X-y=-13=3x-4=-13=3x=4-13=— 7:;/

Apa (X, y) = (—3, 4)

1- {—7x+8y 1 {—7X;b87 1

—4-(4x+2y=6  |_16x_8y =-24 (

_ :723‘x 23 _
~23x=-23 e

Axoun

4X+2y =6 Zy_Z _
y=6=41+2y=6=4+2y=6=2y = —4+6:>2, 2(:>

Apa (xY)=(1Y)

2-{9x+2y=—3 :{BX%}

1-

—3x-4y=-9 |-3x_AY =-9 (4)
15x = 15:%:%:

Axopn
-3X-4y=-9= (—3)-(—1)—4y=—9:>3—4y:—9:>

3

= -4y=-3- 9:>—4y——12:>74y:§:>

A
Apa. (X, y) = (—1, 3)
2y



_3.

7 {5x+3y:—1 {35X;2/1§=—7
=

6x+7y=9 ~18x =21y =27 (+)
-2
x 34
17x =-34= =" = [x=-2]
4

Axoun
5x+3y=-1=5-(-2)+3y=-1=-10+3y=-1=

3

:>3y=10—1:>3y:9:>%:§:>
Apa (X,y)=(—2,3)

—8~{x+y=1 8% -8y =-8
=
1- |8x+9y=3 BX +9y=3 (+)

Axoun

X+y=1=x+(-5)=1=x-5=1=>x=5+1=[x =6
Apa (x,y):(6, —5)

—3X_AY =5 (+)
—11x=—11:>7jﬂfx=%:>

Axoun

“2X+y=—A4=-21+y=-4=2+y=—A=y=2-4=]y=-2
Apa (xy)=(1-2)



